£ 9 LHY LA R 1098 ERS 18P = esficfH? W TEREL
ERE S SE R

- HEF(ERERLA £ 224) ZOFRMEERE (WA K8 A)
TR RA Y o VR £ E S A0 vna 7 3
1. ( )>4913>4813>( ) ( ) 250 B U A () o
>4513 - ,
2 FI42Fwbo i ) - SDIE ol
3. b B+ 13 BF 4B 4o 10 B- &4 -
% 2 ( ) o A N
4.7 3:0-8 5 d- Br idcr BT AL N\ \i s/
CIE S 2 IEE SiEs 28 \V4 S
( ) L £ ( )
5884 HBEZRf( HBEFered o 0 B ( )
6. 4 =i =( ) B o
g. 933;?5%::&5YI 4)2;&% " J%*6J+‘°ﬁ CRAINEES I (F3A . E184)
P B et gk £ 6 2w =
fﬁm{o” B ot 2 fe( y, (1)9564 8888=( ) (2)622+4005=( )
F%lt( )°
9. L RTH Jsde (2468 e d B+ 6 FTedic
gl’b}ﬁj\mﬁ(i‘gﬁ )0
10. 164 x 7+ 164 x 8 * ( ) e
11. 73 x5 73 x 8 4 ( )iE 73 _ _
12.;%_ﬁ,)\247\,\;%-+: (3)374X8 _( ) (4)609)(7 —( )
(-3 FHFNERH 3 ( ) -
(2) 8 5 ~A K dpdz k9 12 ( ) e
13. 2000mm = ( Jem = ( m °
14, 40 B 7 & )i+ o

: . , G)6ar—34EF = )or( HEHX
-~ 2R FE P (FHE2A R 64)

(s

E - & \ N\ A&

TR TREHFEERIB oL BTN Y
R

I |

— ? !
g:( Haa( HEH OATEF+2 22 9FF=( )2a( HEF
2. BEF 0 TR RFEMLBE L0
0 I 2 3 4 5 6 Tem

I CFRTERE(FRERLA > H9A)
L FBITHF - BHF L L
3R F - 2673 ~hhE o

& EAR A&
‘{i&‘?’j—’*- [foo] ~ © - %%'ﬁ




2. E%—%Aakbﬁidﬁjj:—rv,;bﬁi,"m
$0:
) 2 3

3. vf— B A& hdk Bt o] ?( )

VA )iﬁ_ﬁ_&_, j
(L& 1m Bidlr)

NERAL(FARLA E9A)

L a2l &E»> - <&=
1B+ 2BF 15 B4 3 @~ [ ] 1253

4. 5
6 5 1 [] 2 [ ]4 8
- 1[[]e +62[]S8
4 7 7 6 (17 0 6

S RuEr BN ok i (F4E4 A 0 £ 28

s

1.7 feeph o @ Ligge a4 2513 B F H
e f g pR g HERS 69 B R
Plfge B g A B R AR?

2. BRPHE o o540 1478 B > BT 522
RRET R PR R RGO 0

3. sh 4 2% 1000 ~4c 5% 100 =~ » | % 4

35 1000 ~f=83& 100 ~> A x5 > = ?

4, JEAcBLD Mg R B R?

| S (N (N D

347 f
A m “oEk

6. Bt B AES > HE- B E T9
Ao 430 AT AmG ER B3 B
Fam F o H 2 A n 2R B

EFH3 A0

7.5 j2 PRI FRPEd A 268 o 0 A
FE S RF A RS - B P

DX v R - B4 T B ?



